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MODEL TEST PAPER

1L1fn (AxB)N(AxC(C)) =8andn(BUC) = 2,

then n (A) is

A.6


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Aow1yS5WejF1

B.4

C.8

D. 16

Answer:

° Watch Video Solution

2.For any two sets Aand B, A N (A U B)-=....... :

A.B

B. &

C.A

D. none of these


https://dl.doubtnut.com/l/_Aow1yS5WejF1
https://dl.doubtnut.com/l/_WbXFdEmNURVK

Answer: C

° Watch Video Solution

3.If logﬁO.ZS =4, then the value of x is

A. 0.5
B.25
C.15

D. 125

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_WbXFdEmNURVK
https://dl.doubtnut.com/l/_71rDhhabmMVP

4.The number of solutions of 2 + |2 — 1| =1is

Al
B.O
C.2

D.3

Answer:

o Watch Video Solution

1
5. Letfy(x) = z [sink + cos” x] where x € Rand k >

1.

then fy(z) — fo(x) =


https://dl.doubtnut.com/l/_C97IwjX4C1dC
https://dl.doubtnut.com/l/_8Rrpo1MlQ4y3

Answer:

° Watch Video Solution

6. The number of five digit telephone numbers having at

least one of their digits repeated is

A. 90000

B. 10000


https://dl.doubtnut.com/l/_8Rrpo1MlQ4y3
https://dl.doubtnut.com/l/_fursvsglzR3c

C.30240

D. 69760

Answer:

° Watch Video Solution

7.1f"p, = 840,"C, = 35thenn =

A7

B.6

C.5

D.4



https://dl.doubtnut.com/l/_fursvsglzR3c
https://dl.doubtnut.com/l/_kyQr8leIrlPw

Answer:

° Watch Video Solution

1 1 1
8. The sequence form an

V3 V3HV2 V3422

A AP

B.G.P

C.HP

D. AGP

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_kyQr8leIrlPw
https://dl.doubtnut.com/l/_Z1Qox5nKJuxQ

9. The co-efficient of the terms independent of x in the

1\6
expansion of (2:1: + —) IS e :
3z

160
A.
27

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_Z1Qox5nKJuxQ
https://dl.doubtnut.com/l/_r3U4Smc2d1lI

10. The coordinates of the four verties of a quadrilateral
are (-2,3),(-1,2),(1,2) and (2,4) taken in order. The equation
of the line passing through the vertex ( — 1,2) and

dividing the quadrilateral in the equal areas is........ .

Az+1=0
B.x+y=1
Cz+y=1

Dz +y+3=0

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_1c3XqEZGwgn7

1. If A'is a square matrix, then which of the following is

not symmetric ?

AA+ AT

B.AAT

C.ATA

D.A— AT

Answer:

o Watch Video Solution

12 If ABCD is a parallelogram,  then

AB+ AD+CB+CDis equal to


https://dl.doubtnut.com/l/_7tm6ArlLYeyr
https://dl.doubtnut.com/l/_BeUmA3kg8IIB

A.2(AB + AD)
B.4AC

C.4BD

Answer:

° Watch Video Solution

13.If (1,2,4) and (2,-3\, — 3) are the initial and terminal
points of the vector i +55 — 7k , then value of \ is

equal to

AL
'3


https://dl.doubtnut.com/l/_BeUmA3kg8IIB
https://dl.doubtnut.com/l/_RHY6MgNoI3VB

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_RHY6MgNoI3VB
https://dl.doubtnut.com/l/_IMg4MH4jMYHh

Answer:

° Watch Video Solution

15. Lim ©— % — ... .
r—1 :13—1

Al

D.O

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_IMg4MH4jMYHh
https://dl.doubtnut.com/l/_AjQjr56w649x

16.1f f(z) = ztan ' x,then (1) is

Answer:

o Watch Video Solution

1 —coszx

17.1f f(x) = ————— then f(z) = e

1+ cosx

A2


https://dl.doubtnut.com/l/_jmvhYGq0rsuw
https://dl.doubtnut.com/l/_kUZxsQkjR8a3

B.3

C. 4

D. 1

Answer:

° Watch Video Solution

eﬁlog:n _ e5log:c
18. [— 1 dx
egdlogz __ 63 ogx

A. x+c


https://dl.doubtnut.com/l/_kUZxsQkjR8a3
https://dl.doubtnut.com/l/_BF9Te2OIZssB

Answer:

° Watch Video Solution

19. A latter is taken at random from the letters of the
word "ASSISTANT" and another letter is taken at
ronadom from the lettters of the word STATISTICS .

The probability that the selected letters are the same is


https://dl.doubtnut.com/l/_BF9Te2OIZssB
https://dl.doubtnut.com/l/_6vBhlOtFbyZ3

Answer: D

° Watch Video Solution

1. Find the value of cos 36°

o Watch Video Solution

11
20f — + — = —

—, find x
7! 9! 10!

o Watch Video Solution



https://dl.doubtnut.com/l/_6vBhlOtFbyZ3
https://dl.doubtnut.com/l/_DX23bmMDccB0
https://dl.doubtnut.com/l/_0O5ELyZhanN2
https://dl.doubtnut.com/l/_djhInuDtoZro

3. The number of bacteria in a certain culture doubles
every hour. If there were 30 bacteria present in the
culture originally, how many bacteria will be present at

the end of 2™ hour, 4 hour and n** hour?

° Watch Video Solution

x+2a y+2b 2+ 2c
4.Show that T Y z = 0.

a b c

° Watch Video Solution

5.Evaluate Lim (ar;3 — 3x + 6)( —z? 4+ 15)

r— —2

o Watch Video Solution



https://dl.doubtnut.com/l/_djhInuDtoZro
https://dl.doubtnut.com/l/_qED0W7ijGFo5
https://dl.doubtnut.com/l/_yvi3vHbVc4O4

dy
6.For 22 4+ 4> = 1 find —
orx” +vy n dz

° Watch Video Solution

7. 68—7117

o Watch Video Solution

8. Given P(2)=0.52 P (B)=0.43 and P(A N B) = 0.24 find

P(A N B)

o Watch Video Solution



https://dl.doubtnut.com/l/_yvi3vHbVc4O4
https://dl.doubtnut.com/l/_38Xc8bH0UmsV
https://dl.doubtnut.com/l/_lqA6Vr05QKwC
https://dl.doubtnut.com/l/_S3qltkA4iINB
https://dl.doubtnut.com/l/_uxZPeZOzRe1x

9. Find the angle between the

— 7 7 - —
21 + 37—k and ¢ +2j5 + k

vectors

° Watch Video Solution

10. Find the value of cos 36°

o Watch Video Solution

Loy 2 Y find
g — 4+ — = —, findx
7! 9l 10!’

o Watch Video Solution



https://dl.doubtnut.com/l/_uxZPeZOzRe1x
https://dl.doubtnut.com/l/_KkUUIYntQwEk
https://dl.doubtnut.com/l/_HRWX7irO7SaJ

12. The number of bacteria in a certain culture doubles
every hour. If there were 30 bacteria present in the
culture originally, how many bacteria will be present at

the end of 2™ hour, 4 hour and n** hour?

° Watch Video Solution

x+2a y+2b 2+ 2
13. Show that T Y z = 0.

a b c

o Watch Video Solution

14. Evaluate Lim (ar;3 — 3x + 6)( —z? + 15)

r— —2

e |



https://dl.doubtnut.com/l/_H2hTaMN7B2YK
https://dl.doubtnut.com/l/_3tON9PVNi5cI
https://dl.doubtnut.com/l/_XNCKUed71E4d

L yvatch Video >olution )

dy

15.For 22 + y? = 1 find —
orx” +vy n dz

o Watch Video Solution

16. Evaluate /98 ~Tdr

o Watch Video Solution

17. Given P(Z)=0.52 P (B)=0.43 and P(A N B) = 0.24 find

P(A N B)

o Watch Video Solution



https://dl.doubtnut.com/l/_XNCKUed71E4d
https://dl.doubtnut.com/l/_mXT6NO4LvHvg
https://dl.doubtnut.com/l/_Zup0gz1dXWHk
https://dl.doubtnut.com/l/_2EL9bMNw1d6p

18. Find the angle between the vectors

— 7 7 - —
21 + 37—k and ¢ +2j5 + k

° Watch Video Solution

1.Solve 2|x + 1| -6 < 7 and graph the solution set in a

number line.

o Watch Video Solution



https://dl.doubtnut.com/l/_tMYL3oopbvfV
https://dl.doubtnut.com/l/_O6xN3G5lZhdO

2. Solve the equations for which solution lies in the

interval 0° < 6 < 360°.

sin*z = sin’z

° Watch Video Solution

3. There are 5 bulbs in a room. Each one of them can be
operated independently. Then the no. of ways in which

the room is illuminated | is:

o Watch Video Solution

4.Find the 3\/E6 approximately to two decimal places.

[ o |


https://dl.doubtnut.com/l/_czZ7dkRtelli
https://dl.doubtnut.com/l/_6eqNn4whpv7e
https://dl.doubtnut.com/l/_QtzxqRcoc6jq

[ & Watch Video Solution ]

5. Find the equation of the line passing, through the
point (5,2) and perpendiular to the line joining the

points (2,3) and (3,-1).

° Watch Video Solution

6. Prove that the line segments joining the midpoints of
the adjacent sides of a quadrilateral form a

parallelogram.

o Watch Video Solution



https://dl.doubtnut.com/l/_QtzxqRcoc6jq
https://dl.doubtnut.com/l/_NC9ANGpjMpYo
https://dl.doubtnut.com/l/_2Q19KXTL33z6

A/ 12 _
7.Find Lim +9-3

z—0 $2

° Watch Video Solution

1+ 22 ind o

1— 22 dy
8.Gi — cos !
iven y = cos ( ) I

° Watch Video Solution

(z — 1)
9. Evaluate [————dx

o Watch Video Solution



https://dl.doubtnut.com/l/_xB10ypMAYUC5
https://dl.doubtnut.com/l/_R8AANVVdDric
https://dl.doubtnut.com/l/_Qo93bE59xVgJ

10.Solve 2|x + 1| -6 < 7 and graph the solution set in a

number line.

° Watch Video Solution

11. Solve the equations for which solution lies in the

interval 0° < 6 < 360°.

sin*z = sin?z

o Watch Video Solution

12. There are 10 bulbs in a room. Each one of them can

be operated indipendently. Find the number of ways in


https://dl.doubtnut.com/l/_Q92jRiA66W76
https://dl.doubtnut.com/l/_XQ4UQ0nBE1Dk
https://dl.doubtnut.com/l/_C3ZxVog6p23M

which the room can be illuminated I is.

° Watch Video Solution

13. Find the ®,/126 approximately to two decimal places.

° Watch Video Solution

14. Using factor theorem prove
z +1 3 5
2 242 5 |=(z-1*z+9)
2 3 z+4

that

o Watch Video Solution



https://dl.doubtnut.com/l/_C3ZxVog6p23M
https://dl.doubtnut.com/l/_cA8uc7wrNtWT
https://dl.doubtnut.com/l/_iSdyv1plb10b

15. Prove that the line segments joining the midpoints
of the adjacent sides of a quadrilateral form a

parallelogram.

° Watch Video Solution

A/ 12 _
16. Find Lim F+9-3
t—0 t2

° Watch Video Solution

1 — d
17. Given y = cosl(1 +22) find %

o Watch Video Solution



https://dl.doubtnut.com/l/_Ab8T1PrP98xS
https://dl.doubtnut.com/l/_A3qnNqtZoXgY
https://dl.doubtnut.com/l/_LEiRaZqG4NU8
https://dl.doubtnut.com/l/_Pg6w2hxiM8vU

(z — 1)
18. Evaluate 3—da:
x° +a

° Watch Video Solution

1. Find the range of the function

1
2cosx — 1°

° Watch Video Solution

2. If the equations z®—ax+b=0 and

z? — ex + f = 0 have one root in common and if the


https://dl.doubtnut.com/l/_Pg6w2hxiM8vU
https://dl.doubtnut.com/l/_rdJlzIf8JEqL
https://dl.doubtnut.com/l/_gFTSXRjTevwU

second equation has equal roots, then prove that ae =2

(b +f).

° Watch Video Solution

3. Using binomial theorem, prove that 6" — 5nalways

leaves remainder 1 when divided by 25.

° Watch Video Solution

4.1f "*2 Cg:("=2) P, = 57:16, find the value of n.

o Watch Video Solution



https://dl.doubtnut.com/l/_gFTSXRjTevwU
https://dl.doubtnut.com/l/_R8Xz5oVRwCr8
https://dl.doubtnut.com/l/_d3UUGP0lyIQW

1
5. Show that the points (1, 3), (2, 1) and (5, 4) are
collinear, by using

concept of slope

° Watch Video Solution

6. The sum of the distance of a moving point from the
points (4,0) and (-4,0) is always 10 units. Find the

equation to the locus of the moving point.

o Watch Video Solution



https://dl.doubtnut.com/l/_5oBziUg5xBEx
https://dl.doubtnut.com/l/_hlZap1jtdkzA

7. Verify the property A(B+C) = AB+AC, when the

matrices AB, and C are given by

3 1 4 7

a= 22 3l o1 0 dc=|2 1
R A

4 2 1 —1

° Watch Video Solution

8. Show that the vector
— —7 - — —7 — —7 —
t —27 +3k, —21 +35 —4k and — 5 +2k

are coplanar.

o Watch Video Solution



https://dl.doubtnut.com/l/_WrZ7jwCikiJv
https://dl.doubtnut.com/l/_EQagwKylaTUT

Cos 2x

9, Evaluate /( dx.

) 2
sinz + cos x)

° Watch Video Solution

10. Evaluate /sin_ 1 rdz.

° Watch Video Solution

44/2 — (cosx + sinzx 5
11. Evaluate Limﬂ \/_ ( )

PN 1 — sin2zx

o Watch Video Solution



https://dl.doubtnut.com/l/_hlOVMn50Cpld
https://dl.doubtnut.com/l/_niRLfhrpVH88
https://dl.doubtnut.com/l/_rkL11GvF4yYH

12. Suppose the chances of hitting a target by a person
X is 3 times in 4 shots, by Y is 4 times in 5 shots, and by
Z is 2 times in 3 shots. They fire simultaneously exactly
one time. What is the probability that the target is

damaged by exactly 2 hits ?

° Watch Video Solution

1
2cosx — 1°

13. Find the range of the function

o Watch Video Solution



https://dl.doubtnut.com/l/_ugHkaAtAL802
https://dl.doubtnut.com/l/_hYSBNoLTcOeu

4. If the equations z’—az+b=0 and

z? — ex + f = 0 have one root in common and if the

second equation has equal roots, then prove that ae =2

(b +f).

° Watch Video Solution

15. Prove that

2 2
cosO—i—cos(?W —9) —|—cos(T7T —|—9) =0

o Watch Video Solution



https://dl.doubtnut.com/l/_MpPjfLIsihEp
https://dl.doubtnut.com/l/_lHu4G06vuDom

16. Using Binomial theorem, prove that 6" — 5n always
leaves remainder 1 when divided by 25 for all positive

intergern .

° Watch Video Solution

17.1f " *2 Cg:("=2) P, = 57:16, find the value of n.

° Watch Video Solution

1
18. Show that the points (1, 3), (2, 1) and (5, 4) are
collinear, by using

concept of slope



https://dl.doubtnut.com/l/_Izo6Qk7DHJmi
https://dl.doubtnut.com/l/_QpdjW3Qgy6vD
https://dl.doubtnut.com/l/_6FI71NxOXIx8

I @ Watch Video Solution

19. The sum of the distance of a moving point from the
points (4,0) and (-4,0) is always 10 units. Find the

equation to the locus of the moving point.

° Watch Video Solution

20. Verify the property A(B+C) = AB+AC, when the

matrices AB, and C are given by

a=[20 5 [C1 o] mac— 2 o
“l14 o5 T e =
4 2 1 -1

o Watch Video Solution



https://dl.doubtnut.com/l/_6FI71NxOXIx8
https://dl.doubtnut.com/l/_I01T4jyZ5uqe
https://dl.doubtnut.com/l/_jDWrCut8Rldk

21. Show that the vector
— - - — — - - -
t —27 +3k, —21 +35 —4k and — 5 +2k

are coplanar.

° Watch Video Solution

COS 2T
22. Evaluate / dz.

(sinz + cos x)’

° Watch Video Solution

23. Evaluate /sin_ L rde.

o Watch Video Solution



https://dl.doubtnut.com/l/_jDWrCut8Rldk
https://dl.doubtnut.com/l/_uOXcRlw38sCw
https://dl.doubtnut.com/l/_pKXdfBECZjc2
https://dl.doubtnut.com/l/_4gNAro1vGwby

4:/2 — cosx+sina:5
24. Evaluate : lim \/_ ( - )
z T 1 — sin2x

° Watch Video Solution

25. Suppose the chances of hitting a target by a person
X is 3 times in 4 shots, by Y is 4 times in 5 shots, and by
Z is 2 times in 3 shots. They fire simultaneously exactly
one time. What is the probability that the target is

damaged by exactly 2 hits ?

o Watch Video Solution



https://dl.doubtnut.com/l/_4gNAro1vGwby
https://dl.doubtnut.com/l/_8kZIcGo6ud3a
https://dl.doubtnut.com/l/_uc71U53nn3aM

1. 1f n ((AxB)N(AxC)) =8andn(BUC) = 2,
then n (A) is

A.6

B.4

C.8

D. 16

Answer:

o Watch Video Solution

2.For any two sets .A U (A N B)=


https://dl.doubtnut.com/l/_PxY35jRVj6ZW
https://dl.doubtnut.com/l/_8osgXsaigtej

A.B

B. ¢

C.A

D. none of these

Answer:

° Watch Video Solution

3.1f log 7 0.25 =4 then the value of x is ........ .

A.0.5
B.25

C.15


https://dl.doubtnut.com/l/_8osgXsaigtej
https://dl.doubtnut.com/l/_548MbxiQgQcn

D.1.25

Answer:

° Watch Video Solution

4.The number of solutions of  + |2 — 1| =1is

Al
B.O
C.2

D.3

Answer:



https://dl.doubtnut.com/l/_548MbxiQgQcn
https://dl.doubtnut.com/l/_X1sqs2E1oAeY

[ W Watch Video Solution

1
5. Letfy(z) = Z [sink + cos” m] where x € Rand k >

1.

then fy(z) — fo(zx) =

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_X1sqs2E1oAeY
https://dl.doubtnut.com/l/_Ij8wXvpsu7b1
https://dl.doubtnut.com/l/_NQdZDZH8RTbk

6. The number of five digit telephone numbers having at

least one of their digits repeated is

A. 90000
B. 10000
C. 30240

D. 69760

Answer:

o Watch Video Solution

7.1f"p, = 840,"C, = 35thenn=.....



https://dl.doubtnut.com/l/_NQdZDZH8RTbk
https://dl.doubtnut.com/l/_C1GkwzK43eDz

A7

B.6

C.5

D.4

Answer:

° Watch Video Solution

1 1
Y TRV RV WY

A AP

B.G.P

C.HP


https://dl.doubtnut.com/l/_C1GkwzK43eDz
https://dl.doubtnut.com/l/_vUFoEt91e5Yb

D. AGP

Answer: C

° Watch Video Solution

9. The coordinates of the four verties of a quadrilateral

are (-2,3),(-1,2),(1,2) and (2,4) taken in order. The equation

of the line passing through the vertex ( — 1,2) and

dividing the quadrilateral in the equal areas is.......... :
Az+1=0

B.x +y=1

Cz+y=1


https://dl.doubtnut.com/l/_vUFoEt91e5Yb
https://dl.doubtnut.com/l/_VWahNe7uVrPb

Dz +y+3=0

Answer: C

° View Text Solution

10. Which of the following lines has the greatest y

intercept ?
A2rx +2y=4
B.z +2y =3
Cdr +5y =26

D.3x +4y =5


https://dl.doubtnut.com/l/_VWahNe7uVrPb
https://dl.doubtnut.com/l/_AqgrjgAIKd02

Answer:

° Watch Video Solution

n. If ABCD is a parallelogram,

AB+ AD + CB+ CDiis equal to

A.2(AB + AD)
B.4AC
C.4BD

D.0

Answer:

then

o Watch Video Solution



https://dl.doubtnut.com/l/_AqgrjgAIKd02
https://dl.doubtnut.com/l/_dCb2dfcKEKta

12. If (1,2,4) and (2,-3\, — 3) are the initial and terminal
points of the vector i+ 53’ — 7k , then value of A is

equal to

AL
'3

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_dCb2dfcKEKta
https://dl.doubtnut.com/l/_nMNUJh6lSbJ6

T yr 9 1%
B. lim o U
z—0 ;1;2

A.2log?2

2
B. 2(log 2)
C.log2

D. 3log2

Answer:

o Watch Video Solution

4. Lim &% — ... .
r—1 :1:—1

Al


https://dl.doubtnut.com/l/_sLVNj9kzSNp7
https://dl.doubtnut.com/l/_lFZUiI77HfqY

D.O

Answer:

° Watch Video Solution

15.1f f(z) = ztan " 'x,then (1) is

Al =
Ty

@

+

N
| = N
>3 ]y


https://dl.doubtnut.com/l/_lFZUiI77HfqY
https://dl.doubtnut.com/l/_MfpXtRU7hek1

Answer:

° Watch Video Solution

B.3

C. 4

D.1

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_MfpXtRU7hek1
https://dl.doubtnut.com/l/_iHTQ6y0Y0fdI

e6logx _ e5logalc
17. 1 1 dx
edlogz _ o3logz

A. Xx+c

Answer:

o Watch Video Solution

18. A letter is taken at random from the letters of the

word 'ASSISTANT' and another letter is taken at random


https://dl.doubtnut.com/l/_MrDucn9Wrary
https://dl.doubtnut.com/l/_wShHeQv8A3HQ

from the letters of the word 'STATISTICS'. The probability

that the selected letters are the same is

45

17
90

29
" 90
19
90

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_wShHeQv8A3HQ

